Word Problems

Division

1. A shop keeper ordered $356 worth of pens. Each pen cost $1. How many pens did the shop keeper
order?

2. Emma and Down picked 136 apples from 8 trees. They picked the same number from each tree.

How many opples did they pick from each tree?

3. Jill has 6 herbs planted in each pot. Altogether, she has 258 herbs. How many pots of herbs does
Jill have?

4. Every day, a machine produces " cars. How many days will it take for the machine to produce 656

COI’S?
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5. Zac wants to buy 230 chocolates for his party. He notices that the shop sells chocolates in packs

of 6. How many packets will Zac need to buy?

-

EASYTEACHING.NET ey




Word Problems Answers

Division

1. A shop keeper ordered $356 worth of pens. Each pen cost §4. How many pens did the shop keeper
order?

89 pens

2. Emma and Down picked 136 apples from 8 trees. They picked the same number from each tree.

How many opples did they pick from each tree?

17 apples

3. Jill has 6 herbs planted in each pot. Altogether, she has 258 herbs. How many pots of herbs does
Jill have?

43 pots

4. Every day, a machine produces " cars. How many days will it take for the machine to produce 656

COI’S?

164 days

5. Zac wants to buy 230 chocolates for his party. He notices that the shop sells chocolates in packs

of 6. How many packets will Zac need to buy?

5 packets
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